
Word Problems

1) Tom and Jerry found 21 cheese slices and 14 more in the fridge. How many cheese slices do
they have now?

2) Mickey Mouse has 39 balloons and Donald Duck gave him 1 more. How many balloons does
Mickey Mouse have now?

3) Woody has 73 toy soldiers and Buzz Lightyear has 49 toy soldiers. How many toy soldiers do
they have in total?

4) Spiderman saves 45 people in a building and then saves 32 more. How many people did he
save in total?

5) Emily has 92 red apples and 91 green apples. How many apples does she have in total?

6) Pocahontas has 83 arrows and John Smith has 7 arrows. How many arrows do they have in
total?

7) Scooby-Doo and the gang have 23 clues and then discover 6 more clues. How many clues do
they have in total now?



8) The Powerpuff Girls defeated Mojo Jojo 83 times and then defeated him 1 more times. How
many times have they defeated Mojo Jojo?

9) The X-Men have 62 mutants and discover 52 more mutants. How many mutants are in the X-
Men now?

10) Peter Pan has 61 feathers and Wendy has 8 feathers. How many feathers do they have in
total?

11) Simba saw 71 zebras and Timon saw 52 zebras. How many zebras did they see in total?

12) Elsa has 34 snowflakes and Anna has 83 snowflakes. How many snowflakes do they have
together?

13) The X-Men have 88 mutants and discover 6 more mutants. How many mutants are in the X-
Men now?

14) Sonic the Hedgehog has 72 gold rings and Tails has 8 gold rings. How many gold rings do
they have in total?

- - - - - - - - - - - - - - - - Fold or tear from here - - - - - - - - - - - - - - - -

Answers: 35, 40, 122, 77, 183, 90, 29, 84, 114, 69, 123, 117, 94, 80
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